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Answer Key - Tamil19

  

     


  4

-    
    


- 


-  
   


-  
   


- 

 1

-  


-      


 


 

- 

- 

- 

- 

  1

-     



- 
BL     
    


-       
 
  


-     

  


  a)   cDNA 

b)     

a)   cDNA  3

-       



-     


-    


-    


- 


-    



-   


-    



-     


-      
  


b)      3

-       


- 

 
   


-    


- 


- 


- 

    


-   

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- 
 
   
  


     
 

  3

- 
   


-     


- 
   


-    

 



  3

- 

 

- 

-  



- 

-  

- 

- 

 a)        

b)          

a)         3

 

 
 


 


  
 

 
 



 
 

 
 

b)     
    
 3

- 

- 

- 

- 

      
   

-    

   
 1

  2

-    


-    



-    



  2

-     

 

- 

  



 1

-    

  


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-   
 


  3F   
  2

- 3F 


-     


 4

- 

- 

-  

-   


-    


- 


- 


7)    

  3

-    


-     


-     
 


 3

-    


- 

- 

-      



      
   

  2

-     



-  
   


   1.5

- 


- 


- 

  1.5

-    


-   


- 

- 


  1

-    


-     


- 


        
    
 

   2.5

-    
   
 


-    
 
   


-  
    


-  
   


  2.5

-   
-
    


-   



- 
   
  


     1

-     

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    



- 

    



  E20     

- 

 3

- 

-    



-    



- 



 2

- E20 

- 


- 


- 


-    


   1
-     



-  

   


        6

- 

- 

 

 


 

 


 


 
 

  


 

 

       

-  

- 

- 

- 

                                                    6

  


  



  



  




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Test - 19| Answer Key  |Tamil

  DRDO    

-   



 1

    5

-     


-   


  

-  


-    


    
   
   


     



  

-   



- 

- 

 

-    
 
    



 ICAR  

   6

- 



-    
  


 

-    
   


    

-  
   



   
 

-    
   


  

- 

-    
 


 

-     


   

-   
   


- 


  

 


  
 




  

 


  



  

  
 

  

 
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     
  

  

 4

- 

-    


- 


 

- 


- 


 

- 

- 




-     


- 


   

-     
    


-     
 




- 
   


  2

-   





-    



    



- 

- 

     
 

a) B6
16

b) CAFE
16

c) 5E9
16

a) B6
16

2

B6
16

 = B x 161 + 6 x 160

= 11 x 16 + 6
= 176 + 6
=(182)

10

b) 5E9
16

2

5E9
16 

= 5 x 162 + E x 161 + 9 x 160

= 5 x 256 + 14 x 16 + 9
= 5 x 256 + 14 x 16 + 9
= 1280 + 224 + 9
= (1513)

10

c) CAFE
16

2

CAFE
16 

 = c x 163 + A x 162 + F x 161 + E x 160

= 12 x 4096 + 10 x 256 + 15 x 16 + 14
= 49152 + 2560 + 240 + 14-
= (51966)

10

       
   

 6

- 



         

      6

   

 

 

 



    

 



 

 





 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 520038

Test - 19| Answer Key  |Tamil

-     
  


-     


-    


- 


- 
   


  

      

  2

-       


- 



- 

-    


   2

-   


-     
  


  2

- 

-     


- 

- 


  5

- 
    


-  


- 

-    
  
  


-    



-  



- 


 1

-    
   




  CSIR      
    
    
CSIR    1

-  
   

    


- 

-   

-   


- 


   
  9

  

-      
   
  
  


- 


-   




-    

  


-     
    


     

-  
 

-     

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- 

-  

   

   


-   

 

   

-    



 


-       


  

    



-      



  


-      

   
 



 

-     
    

  



-      



-    
     

   



-   
    



   


     

-    
   

   



-     



   


-     





  

-     







-   



-     





    

-    



-  

     





-    

 



   

-     

  



- 

  



   

- 





-     



   

-  



     



- 



-   



- 



-   

 



 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 5200310
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  

-    


     CSIR  
2

-    


-    



-   


-   


-    
   


- 
   


    
 

  1

-    
  


-    


-    
   


-    
  


 
   10

-    


-   

  


-     
    
  



-      
    


-    



-   
   


- 


-     
  
 

-     
   


-      



-   


-     
   



   
   
    
   
 


-     
  


-   


-      


-   



 1

-     
 


- 
   


-     


-   
   

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Test - 19| Answer Key  |Tamil

    
  
  

 1

- 

-     


-     


 
 1

-    


 1

-     
 


- 

  1

- 


- H
2
(g) + F

2
(g)  2HF(g)

-    
   


  2

 

- 


- 


- 
CH

4
+2O

2CO
2
+2H

2
O

-    


- 


C
6
H

12
O

6
+6O

26CO
2
+6H

2
O+

 1

-    
   


 


  1

- 


- 

  1

-     




-   
(Fe

2
O

3
.xH

2
O).(Fe

2
O

3
.xH

2
O)

- 


- 

4Fe+3O
2
+  2xH

2
O2Fe

2
O

3
.xH

2
O

 1

-    


- 
 
    


- 



- 

  2

-  

- 

- 

- 

- 

-   


      
      
  

  2

-   
   
    


- 
    

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Test - 19| Answer Key  |Tamil

-    



  4

 

 

 

   

- 
  

 

    

-  



-    


- 


   

- 


-     

 


  5

  

-    
   


-   


- 


-    
    


  

-    


-     
   



 

-    
  


-    
  





- 





- 



- 



- 



  

- 



- 



 

-   

    


-    



-  
    

  



 1

-   



-    



-   

  
  

 

    

 1

- 



-  

   2

-     



-    

 

-    

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   2

-    


-   


-  


- 
    


 5

- 



- 

-     



- 



- 



-     



-  





         2

-   



- 

-    

  



-      



    

  2

-    


-  



- 

-     



    3

- 

- 

- 

 4

-  
 


- 


- 


- 


-     


- 


-    




  3

     

- 
   


- 

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-  


-    


 

-     
   


- 


- 


 

-     


-     


- 


      

  2

-     


-     


-   


-   


  1

- 

-   


 2

- 


- 

-    


- 

 3

-       
    
 

-   


-      
   



- 



   2

- 

 

-   



- 

-     



- 

-    



-  



     2

-     



- 

   



-       

  



- 



      

    

   

  

  2

-     



-    

   



- 



-     



   1

-     

  



-       

    

   


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   
 4

    


- 

   


   
  

- 
    


-  
   
   


- 


    


-   
   


- 


- 


  

-    
  

  


- 
  


-    
 


   

-  
  


- 

  

- 
    


-     
   


  

- 


- 

- 
 


   
 4

- 



- 


-       
 


-     

    


-     


-      
   


-  
   



-    
  


-    


- 
   


-  




- 


 1

- 
   


-  
    

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- 
   


     
   

  2

-    
   


-      
    
   


-  
   


     2

- 

-     


-     


-    
 


   1

   

-    
 


- 


-  

 2

- 


- 

-  


-    


    2

- 


-   


-    BIS


 1

- 

-     
   


-     


   1

-     



-   


-   


- 
 


   
1

-   


-    


- 



        
  

-     
  
 1

   3

- 


-  

- 


-   


- 

-      


-     
    


-    


-   


- 

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Test - 19| Answer Key  |Tamil

   
  2

-    
  
   


- 


-       


- 


- 
    


-   
  


  2

-  
 

-  


-     


- 


   2

-     
   


-  




  2

-    


-      


-    
  
   


      
 

  4

-    


- 

- 

-     


-    


-     


-     


- 

-      


   
  2

- 


-     


- 


  

-    

 



-     





-     



-        



- 



-     


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- 


  
2

-    


- 


-    


-   


   


-     



- 

-   


-    


-  
   


-      



- 


-  


- 

  4

- 
  


- 

- 


- 


- 

-   


-     


- 


- 
 


- 

-    


- 


- 
   


  

     
    
  


- 


 1

   7

- 

   


-  

-  


-   
  


-      
  


-    
 

-  
RT-PCR
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-      


-     


-     



-    
  


-       


   
 


- 
 


-    



-   




- 


-     
   
 

-   


-   
   



-     


   
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-  
   

  


-    

   


-  

-    



-  


-    


-  


-    


-    
  


-     


-    


-    
   
    


- 
    
  


-    
   


- 
 
  


    
   

  

-   
   
 1

- 
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- 


-    
SLV, ASLV, PSLV, GSLV-V S LV
& RSLV 

-  

- 

-     
   


-    
   


- 
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- 

- 

- 

- 

- 

-  

-     



- 

- 



-   



- 


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- PSLV, C-37 



- RSLV  –  2016   



-     



-    



- 



-     

- 



- VSLV     

  



- PSLV – C – 54 : 

   



-    



-     



   

a)   

b)    

a)    7.5

  

- 

     



   

-     

  

  



- 



-     





- 

O

 

-    



-  

 

- 



- 



-      

 

b)     7.5

 

  

- 

   



- 

-    

 

-     



-     



 

-    

   



-   

   



- 

  


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- 





-  







-   



- 

   



-     



    

  

      



  7.5

-    

 

  



- 



- 



- 



-    



-     



   



-     



    

7.5

- SARS Cov – 2 

 





-  IAVI 



- 



-    





-   



- 



- 



      

   

    

   

  3

- 

  

 



-    



-    

   



-    



   

  2

-     







    4

-    

   



-      

 



- 

- 

  


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- 





  6

-    

   



- 





- 

   



-       



- 

     



-  



- 



- 



-    



-   



- 

  



      

 

  2

-   



-   





- 



  



-     



-     



- 

   8

-     

   



 

 

 

   

-  



-     

   



- E 

- E [M1L-1T-2]

   

- 



-    



- G  C 

- G  C  [M1L-1T-2]

   

-      

   



-  

 

   



- K

- K = P / (  V / V)

- K [M1L-1T-2]

   5

-    

  



-   

  


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- 


-    


-      

   


- 

    
  

 

 

    



  DART    
  

DART  5

- 


-     



-     


- Xfalcon 


 5

- 


-     


- 

  5

- 


-      


   


     
 cop – 27  

 

cop – 27 1

- 

    



-    

 

    



       12

- 

   

   





-  





- 



- 

 

  

-  

     

    

 



   



- 





-   





- 



- 





-      



- 

- 

-    





-     







 - 99445 11344 |  - 98942 41422 |  - 75503 52916 |  -  98431 10566 |  - 97555 5200324
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-   

  



-   



-     

   



- 

-     



  

- 





 



- 

   

 

-    





- 



 

-    



    

   



-     

     





- 

    



-  

   



- 

    





-      

   



-    

  



- 

 





- 







-    

  

   

  



-  



- 

 



  2

 

- 



-   

    



    

    

   

 


